efficiency efficiency efficiency

efficiency

1
0.9
0.8
0.7

0.6

wheel -1 chamber 2 sector 10 sl 1 layer 3

o _ _ _ - ——————————— — =
(I X AAd A X AL I X AJd I XA A A A A A A J A A Ad A A J J XX A A XA d A d A d A d LX)/

0.5

10 20

0]

==

—=—

&P

1

W]

0.9
0.8
0.7

0.6

0.5

wheel -1 chamber 2 sector 10 sl 1 layer 2

—— - =
09000y C00000000e %0

10 20

{0

=

=

e

0.9
0.8
0.7

0.6

wheel -1 chamber 2 sector 10 sl 1 layer 1

0.5

10 20

=

=T

===

&0

0.9
0.8
0.7

0.6

0.5

wheel -1 chamber 2 sector 10 sl 1 layer 1

1 00009000g00000000000000%90000000000000000°900050004500000000,

10 4]

<ol

W

=5

&



